2001 Pasture Exam
Here are the answers from the 2001 Pasture exam. It has all the same questions as last year and more. I have taken these from a fourth year, and they look pretty right. I will also add annotations that have been added on other parts of the question as clarification points.

1) Answer: C – Native grasses and shrubs comprise over 90% of Australian grazing lands.

D – incorrect, supports 41% of livestock

2) Answer: B – < 7.5 months dry season, > 500-700mm rainfall p.a., regular burning

3) Answer: B – Southeast Asia has small areas of permanent pasture, but significant numbers of large ruminants.

4) Answer: A – The tropical and subtropical tall grass areas.

Tribe Andropogoneae – main spp. spear, forest blue, kangaroo grass

5) Answer: A – The tropical and subtropical tall grass (spear grass communities).

Heteropogon contortus (Spear grass), Bothriochloa bladhii (Forest blue grass), Themeda australis (Kangaroo grass), Aristida


B – The Mitchell grasslands – Astrebla (Mitchell grass) and Iseilema (Flinders grass)

C – The Mulga Woodlands – main spp. Acacia aneura (Mulga), Thyridolepis (Mulga mitchell), Monochater (Mulga oats) some Aristida and Eragrostis

E – The monsoon tallgrass areas – Sorghum, Themeda, Sehina, Chrysopogon

6) Answer: C – tribes (b) and (f)

7) Answer: D – Fertile, average water storage, low erosivity

Note: Cracking clays are the only fertile soil
8) Answer: D – Slash and burn agriculture followed by regular fires ensure its persistence
Imperata is an example of a humid savanna (i.e. derived from forest following slash and burn agriculture. Maintained by slash and burn agriculture.

9) Answer: B – Low temperature index

10) Answer: D – Increased grazing pressures due to introduction of cattle and sheep and less frequent burning.

11) Answer: A – It is the best way to control many woody weeds in pastures.

12) Answer: A – Change to Heteropogon (spear grass), and then to Aristida (wire grass) dominance.

13) Answer: E – 90-150kg/animal/year.

14) Answer: D – Low, due to both seasonality of pasture production and poor quality of pasture

15) Answer: A – Supply mineral supplement (N, P, S, Na) in winter when pastures are poorest.

16) Answer: A – Overgrazing of fragile perennial grasses and the ingress of exotic weeds.

C – such thing as native weeds? Could this be the answer as opposed to A??

17) Answer: B – Have been introduced from East and Southern Africa

10 grasses, 5 legumes



C – 5 grasses, 7 legumes

18) Answer: B – Biological nitrogen fixation from legumes in pastures

19) Answer: A – Check to see that there is plenty of lush green legume growth.

20) Answer: E – To increase the protein content in animal diets.

21) Answer: D – 30-35°C

Temperate spp. 20-25°C

22) Answer: B – Mycorrhiza occur naturally in most soils and inoculation of legumes is unnecessary.

23) Answer: D – The urine of grazing animals.

Amount of N in dung is fairly constant and low



A – small %
24) Answer: A – Al deficiency limits nodulation and therefore N fixation.

25) Answer: C – Severe defoliation will always lead to loss of tropical legumes from the pasture.

False – severe defoliation can lead to an increase in some short prostrate legumes as the competitive grass is kept in check



B – true



D – promotes nodulation and N fixation



E – increases to reach its highest % in Autumn

26) Answer: B – 15-25%

Sheep and beef only 4-13%

27) Answer: E – none of the above

The amount of nutrient in dairy shed effluent is relatively small

28) Answer: B – Legumes have been planted over smaller areas than grasses, and relatively uniformly along coastal and sub-coastal regions of Queensland, but not further inland.

29) Answer: E – American jointvtech (Aeschynomene americana) is vigorous in low fertility soils of the tropical coast, and is one of the few tropical legumes that tolerates water-logging.

30) Answer: E – Purple pigeon grass (Sertaria incrassata) likes good soil fertility, and is one of the few grasses that can establish easily on heavy black soils, and is very palatable.

Not very palatable.

31) Answer: E – Hymenachne amplexicaulis
32) Answer: E – Centrosema pascuorum (Centurion centro)

33) Answer: B – 0.5b/ha

a/2b

34) Answer: D – 75kg/ha
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36) Answer: A – The model does not work well at very low stocking rates

37) Answer: A – Milk supply is lower in winter as low temperatures limit pasture quality

38) Answer: C In general, there is a trade-off between quantity and quality when considering the best time to conserve fodder.

39) Answer: C – Farmers should separate different types of pastures and match them to stock requirements.

40) Answer: E – The costs of maintaining the system are lower.
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